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GENERAL DESCRIPTION.

The letor consits f e e =
(1) Tue HoLoex. on which are mounted spiral
(2) Tre Crunvosn ¥ logaithric cles.
() Tk Curson or Indicator), carrying at each end a
engraved arrow, or pointer, which canbe set to lny
mark, or to which any mark can be se

DETAILS OF SCALES.

Model K.

foubeR carries a_logarithmic scale 66
rmm K Iu |u raduated s follows —
By 001 mml to] By g5 from 240 4
w002, 112 3" 4,

long,

ot e of the sul may e uul.m.mi
dcimal poins ate ot marked Thus the reading 212, for
e for 2120, 21200, 212, 212, e, te.
it in the answer is found by
of the rules given on pages

the " Miooie Uiy,

METHOD OF OPERATION.
The following sequencel of movements ‘shouldabuays
e adhered o 1 apersting the nstrument b
Movement | 7T-|w the Houper in the left hand, and open
nstrument  gently to full extent. Move

il e

Moyt 2—Move Cxinoti so that mumber on sal is
st to top artow (ot the arrow 1o the umber,
Do ot toueh Cursor while moving Cylinder.
Movesext 3—Move
e o

R 1o set cither arrow as required-

t to_the

GENERAL RULES.

The following abbreviations are used to render the
descriptions more precis
~ Bottom Arrow or Pointer on Cursor.

T = Top arrow or Pointer on Cursor.

‘Middle Unity on Model K.
Unity — 4 Available Unity on Model L (see previous
page).

_To Mumiey.

1. Set B to Multiplcand.

2 S Unmv to T. 2. Set Divisor to T.

3. Move T to Multiplier. 3. Move T to Unrry.
4. Read Answer at B.

Problems of Proporion, Prctice, Percensge, &c. imualve
ither one, or a combination of both, of these operati

ToDn
1. Set B to Dividend.

EXAMPLES,
X anlhe. following nscructons apply o both Models
Multiplication.

Maltiply 115 by 23.

SetBlolls, St UnrvioT. MoveT (023, Rad

answer at




| e S

Division,
Divide 833 by 17.
StBie i SullnT. M Tl Rad

answer at

Combined Mul

nd Division.

Salve 7
agLme. Set7toT. Move Ttod,
(B now indicates answer to >5-).
Set5t0T. MoveTto9.

% 4x9)

6
(B now indicates answer to 252).

6 4,9
%2

Set 2to T. Move T to Uniry. Read answer at Bi—
086,

Proportion.

I Solve12:7:16:x
Set B to 12. Se.7w'l Move B to 16 Read
answer at T 333,

1L Solve 18
Set B to 18, ssu 0T Move T to 55, Read
answer at B, 18:43: 238553,

111 Divide 8975 in the proportions 83:79: 33 : 19,
Set B to 8975, Set aum of revired proortons
Viz., 214, & Siout ahering the setuns o T
Insv.mnunl move T in succession to 83, 79, 3

e pesparnoat a
581, T 1584 wed 197, ©n
tion pecessitates * closing in " Nt Cy\il\det.

See page
Percentages.
L Whnhs“us:)nf 162>
ol
() on 162
Set B to 162 (mp“ll amount or quantity).  Sec
Unryso T The fstrumen s now gt 1o solve
w:g:v?gzpr lems involving % OF, % OrF and
— i =

@ Move T to 5 (eate %), Read answer at B:—

5% of 162
O More T 10,95 (00-rate %) Read ansver
atB: 5% off 162—
(c) Ma;: T '?5'05 (lmH rate %). Read answer

. What 0 f 3735 s 4 342
0 3735, Set UNity to T. Move B to 454,
RudnmwcrnT 12155%,

Il What is the percentage of profit on cost where
goods vulc'lned(fﬂr £260 are ld for £9.000

). swer at T:—
1635, Pnrt:nu(elﬂ profit= 63 55h (1635 - 100).
Constant Factors.

In cases where one pair of factors is .qx.m{ through- 1
out a series of problems, the Instrument may be set to the
constant terms, and the answers found by subscquent move.
‘ment of the Cursor only.

In Percentage Example I, for instance, the Instrument
being set to the constant terms 162 100%, any po
her

1L Dm....ln: oo g o
She &N T 2 | being the
Soanss 1o he i), Moo B n succcion
Vi 09375, 31575, 46875, oag, S o £

S(erlmg Caleulations.

e reckoned as decimals of
m..ds i mmpmlelsbcﬂlmxh:pmbt ¥

L 1654 articles cost £39 4s. 6., what is the price of 157

T o Ei0 5, e, £10 7T o
5




® sa.smms [ilig). Sskw TR
T I5 swer at Bi—15 articles cost
2179 sillings, i £10 175 11

. Find Interest on £675 at 61% p.a. for 29 days.

65
(€675 ¥ Top X 32
S4B 1o 675 St Uy to T. Move T to 6
S48 0T Mo Tto 20 Red anover st

AR 874, (If prefered, mulily
B by M, and read answer at B : 83675 penc
ie 83

In some calltions it may bo found prfeabl to invrt
the setting of the Instrument and to work to the Unities or
the Holder Scale intead. of 16 thme on the Cylnder S
In this case, the answer is of co at the Pointer
i 1 tho ons indkath oA 1 ARG e

Model L.
Tue Upper CyLiNoER Scm.—\vhm this Seale 15 used
i Holder Scale to perform the types of
e e ok b

that upon occasion the Cylinder becomes closed in or opened
out too far for the Poiater on the Cursor to be moved to the
roquired figure. In this cxe pre
i eing tbe sting o 1 sttt e
To Crose Cytaoes I, Move T to bottom Uniry.
Set top UTry to T.

o Our—Meve Tt top Unr:

as follows, without

Usy o T.
The Penter can then b et 1 thereuired fure and the
alealaton. compl " opersion ey bo. pettommed

ac g AP h e ol e
aniwet i any vay

T«:lﬂwﬂCvuﬂmSulL wbmmm‘vdﬂpm—

sions oceur above or below the line, the Otis King's Calculators
offer yiluabe advantags e the ordioary Wit role, bichy
even if engraved with | . cannot solve the follow.
ng, wheress Mode L wil giv all powers and rocts fraciond!
3

PP SIS

or otherwise of 4ll sumbers without Jimit, and sclve sny
following expression s

4000
= 245
P
jroshed. cpresions mut be sepaced by thl
sumerial value before the problom can b, deait with, and
this prior process is, of course, common to both the slide
Tl and.the Ots King's Calwlator, The intermedint stage
indefing with the above prblem i to gy it it the
ollowing

10253984000
6 12:11900-1
“The process for effecting this is as follows :—
“To Locarize—(i.e., find the logarithm representing a number).
Set B to bottom UNity _of Holder Scale. Set *-000
of lower Cylmdn Seale to T. Move B to number (anti-
logarithm), and read mantissa at T.
To Detocarize—(ie., to find the number represented by
o ogarithm).
to bottom Umw of Halder Scale. Set 000"
Cylinder Scale tc n o T to mantissa. Read
antilogarithm (number) at
To ascertain any Power or Root of any number.

S,
ide the logarithm of
he index of

0.39%
Anclog o0 0:5998=-398.
Thercfore *y/63-396.




7o' D.T.mm Posion o Decima Fone (entinsed)
9 #an’n 4 81278 o o0, 0TS,
3. 40

Multiplication.

o i the b of s ) i the prodict P =X V),
Lt X v m e Ve

Rusl, o pombnl,

bl el e gl g -

)Whmd»tn:u‘llnhn the stin, the product has m -1 places
F.ump\c 3% x(
.w-er Move Tt 3, (This is sbove sttng)

Division.

Tofd b b s O bhomaion 1
RueIL or gt n
Tl Rk s 5 e R g
Eumgle: 5 T 0
o5 S0 Mo T o Unrs (T i s )
7 When the vl s el the setin, the votient has ma+1
5 =1 nsh
SRS STl Mo Tao Usiry, Reod vt . (Thi
2 s below seting) <11+l =41, | Anawer 125,
Calculations involving Multiplication and Division.

Rl Tos el may be rd i ki ot o pobin
e in b malipeation and diviion, They

o e e sty
4 -r.lu.u i ameios i and th divsfin conectvely by the

et b eny.the e co b sk i the oo o the
e S (st the dociml o

diide ol by e e o e nompr, 22
ke 1 e e oy e i o the denomitor
from the, algcbrae sum of the places in the facors of the numerator and to
. Sbrtic s f he ety chsinel from the spplcation
of Rule | and 11 1o the several seps of the proble
£2:34:0027 0%
A0 <0175 5471
S “yaaihro=ts
enomtor = 3464041 =42,

RITETE

Diffrence o
Reslts o vrious stepe it ealshiion=—1 4141 =+1.
Normber o plces in nswer = +3.
Aneyer=141-14.
8
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